rate/cell by tray ID

40

35

30

25

20

15

10

5

0

o1

.':
0

rate/cell by global module ID

1
60 80 100

60

50

40

30

20

10

0

SR

, u Hﬁﬂujxhu,

[_rate/cell by tray moi
20

dule ID

1000

| Vil ‘\‘ i
IR
n i i ,ﬁrm ¥ WN&“:#I ; ‘h:“ ‘Hnih.}

1
1500

1 1L . L —L
2000 2500 3000 3500

18

16

14

12

10

rate/cell by tray cell

16

14

12

10

—
| -
L 1 L
I
LT | I
:| 1 1 1 1 1 1
0 5 10 15 20 25 30
D |
— | 1
I 1
" " " " 1 " " " 1 " " " 1 " " " " 1 " " " " 1 " "
1 2 3 4 5




40—
35—
301~

25—

15—

10__ 7 7 ’//‘

0

O_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII O_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-05 0 05 1 15 2 25 3 35 4 45 -05 0 05 1 15 2 25 3 35 4 45 -05 0 05 1 15 2 25 3 35 4 45



rat

|

e/cell by tray module 1D, TraylDinLoop=0
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rate/cell by loop module ID
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difference between noise rate and mid-tray fit

N
o

=
ol

=
o

ol

e e EmhiIin anJqﬂwr“1nnﬂjLFrHLPWquH Fﬁﬂ“ﬁﬂfﬁﬁdJ
1L |—"|_,_.-._.-._|_-|—._r|_,_|'" NN UULL,_,J-'-'_'_IU =] ] L |-r| I

100 120 140

o

AN
o o
fj

e

&
O
N
o
D
o
o))
o
o)
o
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| nHits/ev, ToT range |
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vpd map
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